Pull of x for PV

Ratio

Pull of y for PV

Ratio

Pull of z for PV

Ratio

1.2

Vertex z (cm)

Pull of x for merged vertices

Ratio

Vertex z (cm)

Vertex z (cm)

\S]

S S |

e

T S 1| A

=

-20 -15 -10 -5

5 10 15 20
Vertex z (cm)

Pull of z

Ratio

'l IS SRR FTETE FEETE SN Era
+ . . .

=i

10 15 20

Vertex z (cm)

0.95
=2

10 15 20
Vertex z (cm)

1.4

1.2

Pull of y for merged vertices

Ratio

L
k3
L o
¥ o
43 .
+

5

10 15 20
Vertex z (cm)

Pull of z for merged vertices

Ratio
=

5

10 15 20
Vertex z (cm)



	Contents
	Page 1


